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Refer to the exhibit. What is the minimal Cisco Meraki Insight licensing requirement?
A. A single Meraki Insight license must be configured on network A to gain Web App Health visibility on network B.
B. A single Meraki Insight license must be configured on network B to gain Web App Health visibility on network B.

C. A single Meraki Insight license must be configured on network A, and a single license must be configured on network
B, to gain Web App Health visibility on network B.

D. Two Meraki Insight licenses must be configured on network A to gain Web App Health visibility on network B.

E. Two Meraki Insight licenses must be configured on network A and a single license must be configured on network B,
to gain Web App Health visibility on network B.

Correct Answer: E

QUESTION 2
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Outbound rules # Policy Protocol Source  Src port Destination = Dst port Comment Logging Hits Actions

Allow Any Any Any Any Any Default rule [Enabled = |2

Add a rule
Refer to the exhibit. Which outcome occurs when logging is set to Enabled?
A. Outbound flows are sent to a configured syslog server if a syslog sender is configured for flows.
B. The hits counter within this section is now enabled.
C. This firewall rule is now enabled.
D. Inbound flows are sent to a configured syslog server if a syslog server configured for flows.

Correct Answer: A

QUESTION 3

Company iPads are enrolled in Systems Manager without supervision, and profiles are pushed through Systems
Manager.

Which outcome occurs when a user attempts to remove the "Meraki Management" profile on an iPad?

A. The "Meraki Management" profile cannot be removed.

B. The "Meraki Management" profile is removed and then pushed automatically by Systems Manager.

C. The "Meraki Management" profile is removed. All the profiles that Systems Manager pushed are also removed.
D. The "Meraki Management" profile is removed. All the profiles Systems Manager pushed remain.

Correct Answer: C

QUESTION 4
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Web App Health  for Google - for the last week -
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Refer to the exhibit. What are two outcomes reflected in the Web App Health application? (Choose two.)
A. Users on both networks may be experiencing issues when attempting to reach Google.

B. Network #1 could not load Google because of a remote server issue.

C. Network #2 had better application performance than Network #1.

D. Network #2 could not load Google because of a local client misconfiguration.

E. Neither network recorded any server-side performance issues.

Correct Answer: AE

QUESTION 5
Which two primary metrics does Meraki Insight use to calculate the Application Performance Score? (Choose two.)
A. Maximum Jitter

B. Total Bandwidth Usage
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C. Maximum Latency

D. Per-flow Goodput

E. Application Response Time
Correct Answer: DE

Reference: https://cloudcontrolled.uk/wp-content/uploads/2018/08/Merakilnsight.pdf (04)
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